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BCM/M-23 14013

INDIAN FINANCIAL SYSTEM
Paper-BC-206
Opt. ; (1)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting at least one
question but not more than two questions from each unit.

All questions carry equal marks.
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UNIT-I ( 3eh1e-1)

1. Critically examine cambridge equation of the quantity theory
of money. 16
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2. Define financial intermediary. Discuss the important
functions being performed by financial intermediaries in India.
(4,12)
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3.

Explain the following in brief :

(a) Primary and Secondary Functions of Money. 8
(b) Role of Finance in Economic Development. 8
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UNIT-II ( 3ehtE-11 )

Explain the following in brief :
(a) Importance of Commercial Banks. 8
(b) Functions of State Level Development Banks. 8
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Discuss the main problems being faced by the Regional Rural
Banks. What steps will you suggest for their improvement ?
(8,8)
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What are developmental Banks ? Discuss the features and
functions of development Banks. 4,12)
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7.

10.

Explain the process of credit creation. What are the
assumption and limitations of credit creation ? (4,12)
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UNIT-III ( ZahT3-I11 )

Discuss the main functions of Reserve Bank of India. 16
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Explain the following in brief :

(a) Merchant Banking.

(b) Mutual Fund. (8,8)
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Discuss the functions of Unit Trust of India (UTI). What are
its contribution in Industrial financing. (8,8)
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